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सामाɊ िनदőशः  
i. यह Ůʲ पũ पाँच खǷो ंमŐ िवभािजत है- खǷ क, खǷ ख, खǷ ग, खǷ घ एवं खǷ M-। इस Ůʲ पũ मŐ कुल 12 Ůʲ 

हœ। 

ii. सभी Ůʲ अिनवायŊ हœ, यȨिप कुछ Ůʲो ंमŐ आंतįरक चयन उपलɩ है। उनमŐ मŐ से िकसी एक Ůʲ को ही करŐ । 
iii. Ůʲो ंके सामने उनके िनधाŊįरत अंक िलखे Šए हœ। 
iv. खǷ क [Ůʲ संƥा 1 (i) से (xii) तक] मŐ 1 अंक वाले  वˑुिनʿ Ůकार के Ůʲ हœ।  
v. खǷ ख (Ůʲ संƥा 2 से 5) मŐ, 3 अंक वाले अित लघु उȅरीय Ůʲ हœ। Ůȑेक Ůʲ के उȅर 40 शɨो ंसे अिधक नही ं
होने चािहए। 
vi. खǷ ग (Ůʲ संƥा 6 एवं 7) मŐ, 4 अंक वाले  दीघŊ उȅरीय Ůʲ हœ। Ůȑेक Ůʲ के उȅर 80 शɨो ंसे अिधक नही ंहोने 
चािहए। 
vii. खǷ घ (Ůʲ संƥा 8 एवं 11) मŐ 6 अंक वाले योƶता आधाįरत/ ŷोत आधाįरत Ůʲ हœ।  
viii. खǷ M- (Ůʲ संƥा 12) मŐ एक मानिचũ आधाįरत Ůʲ 4 अंको ंका है।  
ix. मानिचũ आधाįरत Ůʲ संƥा 12 के ̾थान पर ̊िʼबािधत िवȨािथŊयो ंके िलए अलग से Ůʲ िदए गए हœ। 
General Instructions: 

i. The question paper is divided into five sections- Section A, Section B, Section C, Section 
D and Section E. The question paper has 12 questions in all. 

ii. All questions are compulsory; however internal choices are given in some questions. 
Attempt any one of them. 

iii. Marks are indicated against each question. 
iv. Section A: [Questions from serial number 1(i) to 1(xii)] has objective questions of 1 mark 

each.  
v. Section B: Questions from serial number 2 to 5 are short answer type questions of 3 

marks each. Answer of these questions should not exceed 40 words each. 
vi. Section C: Questions from serial number 6 and 7 are long answer type questions of 4 

marks each. Answer of these questions should not exceed 80 words each. 
vii. Questions from serial number 8 to 11 are competency based/source based questions, 

carrying of 6 marks each.  
viii. Question number 12 is a map based question of 4 marks. 

ix. Separate questions are given for visually impaired student only in lieu of map based 
question number 12. 



 

 
1. [k.M+ d 

Ikz”u la[;k (i) ls (xii) rd fn, x, funsZ”k ds vuqlkj dhft,A 
Section A 

Do as per the instruction Q. No. 1 (i) to 1 (xii) 

1x12=12 

 Ikz”u la[;k (i) ls (vi) rd mi;qDr fodYi dk p;u dhft,A 

Choose the correct option in q. no. (i) to (vi) 
 

(i) ok;qeaMy esa lokZf/kd ek=k esa ikbZ tkus okyh xSl dkSu& lh gS\ 

A. vkWDlhtu 
B. ukbZVªkstu 
C. vkxZu 
D. dkcZu MkbvkWDlkbM 

Which is the most abundant gas present in the atmosphere? 
A. Oxygen 
B. Nitrogen 
C. Argon 
D. Carbon dioxide 

1 

(ii) gokbZtgkt mM+kus ds fy, loZJs’B ifjfLFkfr;k¡ vkidks fdl eaMy esa izkIr gksxh\ 

A. e/;eaMy 
B. cfgZeaMy 
C. lerkieaMy 
D. {kksHkeaMy 

In which layer of atmosphere you will get the ideal conditions for 
flying aeroplane? 

A. Mesosphere 
B. Exosphere 
C. Stratosphere 
D. Troposphere 

1 

(iii) fo”o Ik;kZoj.k fnol dc euk;k tkrk gS\ 
A. 5 tqykbZ 
B. 5 fnlEcj 
C. 5 twu 
D. 5 ebZ 

 

1 



When is the World Environment Day celebrated? 
A. 5 July 
B. 5 December 
C. 5 June 
D. 5 May 

(iv) lw;Z ls vkus okyh og ÅtkZ ftls ìFoh jksd ysrh gS------------------ dgykrh gSA 

A. vkriu 
B. Tokj &HkkVk 
C. Hkw&L[kyu 
D. Ikou 

The incoming solar energy which is intercepted by the earth is 
called………. 

A. Insolation 
B. Tides 
C. Landslide 
D. Wind 

1 

(v) fuEufyf[kr esa ls dkSu rqxyd oa”k dk “kkld ugha Fkk\ 
A. eqgEen rqxyd 
B. x;klqÌhu rqxyd 
C. vykmÌhu rqxyd 
D. fQjkst”kkg rqxyd 

Which among the following was not a ruler of Tuglaq dynasty? 
A. Muhhamad Tughlaq 
B. Giyasuddin Tughlaq 
C. Allauddin Tughlaq 
D. Firozshah Tughlaq 

1 

(vi) lYrur dky esa fdlku dh mit dk fdrus izfr”kr ‘[kjkt dj’ ds :Ik esa fy;k 
tkrk Fkk\ 

A. nl izfr”kr 
B. chl izfr”kr 
C. rhl izfr”kr 
D. ipkl izfr”kr 

What percent of the produce of farmers was charged as ‘Kharaj 
Tax’ during Sultanate period? 

1 



A. 10 percent 
B. 20 percent 
C. 30 percent 
D. 50 percent 

(vii) tyeaMy ls vki D;k le>rs gSa\ 
vFkok 

tSoeaMy ls vki D;k le>rs gSa\ 
What do understand by Hydrosphere? 

OR 
What do you understand by Biosphere? 

1 

(viiii) vkbus & vdcjh ds jfp;rk dk uke fyf[k,A 
vFkok 

eqxyksa dh lsok esa vkus okys ukSdj'kkgksa dks D;k dgk tkrk Fkk\ 

Write the name of the author of Ain- i Akbari. 
OR 

What were the bureaucrats who worked in the service of the 
Mughals called? 

1 

(ix) ukxfjd vf/kdkj vkanksyu fdl ns”k eas pyk, x;k\ 

In which country was the Civil Rights Movement launched?  

1 

(x) jk’Vªh; jkt/kkuh {ks= fnYyh ds LokLF; ea=h dk uke fyf[k,A 
Name the Health Minister of  Govt. of  NCT of Delhi. 

 

(xi) e/;kã Hkkstu dh O;oLFkk fdl o’kZ laiw.kZ Hkkjr esa ykxw dh xbZ\ 

In which year was the system of mid-day meal implemented all 
over India? 

1 

(xiii) fuokZpu & {ks= ls vki D;k le>rs gSa\ 

What do you understand by the term constituency?  

1 

 [k.M [k 
y?kq mÙkjh; iz”u ¼2 ls 5½ 

Section B 
Short Answer Type Questions (2 to 5) 

3X4=12 

2 xzhu & gkml xSl ls vki D;k le>rs gSa\ 
vFkok 

ukbVªkstu xSl dk egRo crkb,A 

What do you understand by Green House Gases? 
OR 

3 



State the importance of Nitrogen gas. 
3 ekuoh; i;kZoj.k ds rhu mnkgj.k nhft,A 

vFkok 
ekuo fufeZr i;kZoj.k ds rhu mngkj.k nhft,A 
 

Give three examples of Human environment. 
OR 

Give three examples of human made environment. 

3 

4 vykmÌhu [kyth ds le; dh Hkw&jktLo iz.kkyh dk o.kZu dhft,A 

Explain the land revenue policy during Allauddin Khalji? 

3 

5 Ikkfjra= ls vki D;k le>rs gSa\ 

What do you understand by the ecosystem? 

3 

 [k.M x 
nh?kZ & mÙkjh; iz”u ¼6 ,oa 7½ 

Section C 
Long Answer type Questions (6 and 7) 

4X2=8 

6 lqyrkuksa dks ,d fo”kky lsuk j[kuh iM+rh FkhA dkj.k crkb,A 
vFkok 

lYrurdkyhu fnYYkh ij ,d laf{kIr ys[k fyf[k,A 
Sultans had to maintain a large army. Give reasons. 

OR 
Write a brief note on Sultanate Era Delhi. 

4 

7 jkstk ikDlZ dkSu Fkh\ la;qDr jkT; vesfjdk esa pys ukxfjd vf/kdkj vkanksyu esa 
mudh Hkwfedk ij izdk”k Mkfy,A 

Who was Rosa Parks? Explain her role in the Civil Rights 
movement in United State of America. 

 

4 

 [k.M ?k 
{kerk & vk/kkfjr iz”u ¼8 ls 11½ 

Section D 

Competancy based Questions (8 to 11) 

6X4=24 

8 vuqPNsn dks Ik<+dj iwNs x, iz”uksa ds mÙkj nhft,A 
eqxy nks egku “kkld oa”kksa ds oa”kt FksA ekrk dh vksj ls os eaxksy “kkld paxst 
[kku tks phu vkSj e/; ,f”k;k ds dqN Hkkxksa ij jkt djrk Fkk] ds mÙkjkf/kdkjh 
FksA firk dh vksj ls os bZjku] bjkd ,oa orZeku rqdhZ ds “kkld rSewj ¼ftldh e`R;q 

3 x 2 =6 



1404 esa gqbZ½ ds oa”kt FksA ijarq eqxy vius dks eqxy dgyokuk ilan ugha djrs 
FksA ,slk blfy, Fkk] D;ksafd paxst [kku dh tqM+h Le`fr;k¡ lSdM+ksa O;fDr;ksa ds 
ujlagkj ls lacaf/kr FkhA ;gh Le`fr;k¡ eqxyksa ds izfr;ksfx;ksa mtcsxksa ls Hkh lacaf/kr 
FkhaA nwwljh rjQ eqxy] rSewj ds oa”kt gksus ij xoZ vuqHko djrs Fks] T;knk blfy, 
D;ksafd muds bl egku iwoZt us 1398 esa fnYYkh ij dCtk fd;kA 
 
8-1 firk dh vksj ls eqxy fdl oa”k ls lacaf/kr Fks\ 

A. paxst [kku 
B. rSewj  
C. bczkfge yksnh 
D.  cycu  

8-2 rSewj dh eR̀;q dc gqbZ\  
A. 1404 bZLoh 
B. 1505 bZLoh 
C. 1602 bZLoh 
D. 1302 bZLoh 

8-3 rSewj us fnYYkh ij dCtk dc fd;k\ 
A. 1304 bZLoh 
B. 1398 bZLoh 
C. 1400 bZLoh 
D. 1415 bZLoh 

Read the paragraph and answer the given questions- 
The Mughals were descendants of two great lineages of rulers. From their 
mother’s side they were descendants of Genghis Khan (died 1227), the Mongol 
ruler who ruled over parts of China and Central Asia. From their father’s side they 
were the successors of Timur (died 1404), the ruler of Iran, Iraq and modern-day 
Turkey. However, the Mughals did not like to be called Mughal or Mongol. This 
was because Genghis Khan’s memory was associated with the massacre of 
innumerable people. It was also linked with the Uzbegs, their Mongol competitors. 
On the other hand, the Mughals were proud of their Timurid ancestry, not least of 
all because their great ancestor had captured Delhi in 1398. 
 
8.1 To which dynasty did the Mughals belong to on the father's side? 

A. Genghis Khan 
B. Taimur 
C. Ibrahim Lodi 
D. Balban 

8.2 When did Timur die? 



A. 1404 AD 
B. 1505 AD 
C. 1602 AD 
D. 1302 AD 

 
8.3 When did Timur capture Delhi? 

A. 1304 AD 
B. 1398 AD 
C. 1400 AD 
D. 1415 AD 

9 vuqPNsn dks Ik<+dj iwNs x, iz”uksa ds mÙkj nhft,A 
tc ge lHkh yksxksa dks ,d gh Nfo esa ck¡/k nsrs gSa ;k muds ckjs esa iDdh /kkj.kk 
cuk ysrs gSa] rks mls :f<+c) /kkj.kk dgrs gSaA dbZ ckj ge fdlh [kkl /keZ] fyax ds 
gksus ds dkj.k fdlh dks ^datwl^] ^vijk/kh^ ;k ^csodwQ^ Bgjkrs gSaA 
fuEufyf[kr ifjfLFkfr;ksa dks i<+dj crkb, ;g :f<+c) /kkj.kk gSa vFkok ugha ,oa 
D;ksa\ ¼fdUgha rhu dks dhft,½ 
9-1 yM+ds [kkuk ugha cuk ldrsA 
9-2 jes”k ,d tkfr fo”ks’k ls vkrk gS blfy, og datwl gksxkA 
9-3 usgk i<+h fy[kh ugha gS blfy, og ifjJe ugha djrhA 
9-4 lqjs”k dgrk gS fd yM+ds jksrs ughaA 
 
Read the paragraph and answer the given questions- 
When we bind all people in a single image or make a firm impression about them, 
it is called stereotype. Sometimes we call someone a 'misper', a 'criminal' or a 
'stupid' because of their belonging to a particular religion or gender. 
Read the following situations and state whether this is a stereotype or not and 
why? (Attempt any three) 
9.1. Boys can't cook. 
9.2. Ramesh comes from a particular caste so he will be miser. 
9.3. Neha is not educated, so she does not work hard. 
9.4 Suresh says that boys do not weep. 

 

3 x 2 =6 

10 ,d dkYifud jkT; dh fo/kkulHkk dh fLFkfr uhps nh xbZ gSaA bls /;ku ls if<+, 
vkSj fuEufyf[kr iz”uksa ds mÙkj nhft,A        

पाटᱮ का नाम जीते गए सीटᲂ कᳱ सं᭎या 
LokfHkeku ikVhZ 110 

Hkwfeghu ikVhZ 02 

3 x 2 =6 



j ’Vªh; ikVhZ 119 

Lka?kh; ikVhZ  1 

funZyh; 04 

dqy  236 

 
10-1 cgqer ds fy, fdruh lhVksa dh vko”;drk gksxh\ 

A. 118 
B. 120 
C. 119 
D. 112 

10-2 dkSu &lk ny ljdkj cuk ldrk gS\ 
A. jk’Vªh; ikVhZ 
B. LokfHkeku ikVhZ 
C. Hkwfeghu ikVhZ 
D. Lka?kh; ikVhZ 

10-3 LokfHkeku ikVhZ ds lnL;ksa dh la[;k fdruh gS\ 
A. 119 
B. 100 
C. 110 
D. 87 

The position of the Legislative Assembly of a fictious state is given 
below. Read it carefully and answer the following questions- 
 
Name of Party No. of seats won 
Swabhiman Party 110 
Bhoomiheen Party 02 
Rashtriy party 119 
Sanghiy party 01 
Independent 04 
Toata 236 

10.1 How many seats would be required for the majority? 
A. 118 
B. 120 
C. 119 
D. 112 



10.2 Which party can form the government? 
A. Rashtriy Party 
B. Swabhiman party 
C. Bhoomiheen  party 
D. Sanghiy party 

 
10.3 What is the number of members of Swabhiman Party? 

A. 119 
B. 100 
C. 110 
D. 87 

11 vuqPNsn dks Ik<+dj iwNs x, iz”uksa ds mÙkj nhft,A 
gekjk ok;qeaMy ìFoh dh lrg ls 'kq: gksdj ikap ijrksa esa caVk gqvk gSA ;s 
{kksHkeaMy] lerki eaMy] eè;eaMy] cká ok;qeaMy vkSj cfgeZaMy gSaA {kksHkeaMy 
ok;qeaMy dh lcls egRoiw.kZ ijr gSA bldh vkSlr ÅapkbZ 13 fdeh gSA ge ftl 
gok esa lkal ysrs gSa og ;gha ekStwn gSA {kksHkeaMy ds Åij lerki eaMy gSA ;g 50 
fdeh dh ÅapkbZ rd QSyk gqvk gSA ;g ijr cknyksa vkSj lacafèkr ekSle dh 
?kVukvksa ls yxHkx eqä gSA lerki eaMy dh ,d egRoiw.kZ fo'ks"krk ;g gS fd 
blesa vkstksu xSl dh ,d ijr gksrh gSA geus vHkh lh[kk fd ;g fdl çdkj lw;Z 
dh fdj.kksa ds gkfudkjd çHkko ls gekjh j{kk djrk gSA 
 
ç'u& 
11-1 ìFoh dh lrg ds ikl ekStwn ok;qeaMy dh ijr gS& 

A. {kksHkeaMy 

B. lerki eaMy 

C. eè;eaMy  

D. cká ok;qeMy  
11-2 ok;qeaMy dh dkSu lh ijr cknyksa ls eqä gS\ 

A. eè;eaMy 

B. cká ok;qeaMy 

C. cfgeZaMy 

D. lerki eaMy 
 
11-3 vkstksu ijr mifLFkr gksrh gS& 

A. {kksHkeaMy 

B. lerki eaMy 

3 x 2 =6 



C. eè;eaMy  

D. cká ok;qeaMy 
Read the paragraph and answer the given questions- 
Our atmosphere is divided into five layers starting from the earth’s surface. These 
are Troposphere, Stratosphere, Mesosphere, Thermosphere and Exosphere. 
Troposphere is the most important layer of the atmosphere. Its average height is 13 
km. The air we breathe exists here. Above the troposphere lies the stratosphere. It 
extends up to a height of 50 km. This layer is almost free from clouds and 
associated weather phenomenon. One important feature of Stratosphere is that it 
contains a layer of ozone gas. We have just learnt how it protects us from the 
harmful effect of the sun rays. 
 
11.1. The layer of atmosphere present near the surface of earth is- 

A. Troposphere  
B. Stratosphere  
C. Mesosphere  
D. Thermosphere 

 
11.2. Which layer of atmosphere is free from clouds? 

A. Mesosphere 
B. Thermosphere 
C. Exosphere 
D. Stratosphere 

11.3. Ozone layer is present in-  
A. Troposphere  
B. Stratosphere  
C. Mesosphere  
D. Thermosphere 

 [k.M+ M 
ekufp= vk/kkfjr iz”u ¼12½ 

Section E 
Map Based question (12)  

1 x 4 =4 

12 भारत के ᳰदए गए रेखा मानिचᮢ पर िन᳜िलिखत मᱶ से ᳰक᭠हᱭ चार ᭭थानᲂ को दशाᭅइए- 
12.1 वह रा᭔य जहा ँअकबर ने इबादतखाना बनवाया था। 
12.2 वह रा᭔य जहा ँबाबर ने इᮩािहम लोदी को हराया था। 
12.3 वह रा᭔य जहा ँिचᱫौड़ ि᭭थत ह।ै 
12.4 वह रा᭔य जहा ँबीज़ापुर ि᭭थत ह।ै 
12.5 वह रा᭔य जहा ँपटना ि᭭थत ह।ै 
On the given outline political map of India locate any four places among the 
following- 

1 x 4 =4 



12.1 The state where Ibadatkhana was built by Akbar. 
12.2 The state where Babur defeated Ibrahim Lodhi. 
12.3 The state where Chittor is located. 
12.4 The state where Bijapur is located. 
12.5 The state where Patna is located. 

 िन᳜िलिखत ᮧ᳤ केवल दिृ᳥बािधत िव᳒ाᳶथयᲂ के िलए ᮧ᳤ सं᭎या 12 के ᭭थान पर ᳰदया गया ह।ै 
(ᳰक᭠हᱭ चार ᮧ᳤ᲂ के उᱫर दीिजए) 
12.1 उस रा᭔य का नाम िलिखए जहा ँअकबर ने इबादतखाना बनवाया था। 
12.2 उस रा᭔य का नाम िलिखए जहा ँबाबर ने इᮩािहम लोदी को हराया था। 
12.3 उस रा᭔य का नाम िलिखए जहा ँिचᱫौड़ ि᭭थत ह।ै 
12.4 उस रा᭔य का नाम िलिखए जहा ँबीज़ापुर ि᭭थत ह।ै 
12.5 उस रा᭔य का नाम िलिखए जहा ँपटना ि᭭थत ह।ै 
This question is given only for visually impaired students in lieu of question no. 
12. (Answer any four) 
12.1 Name the state where Ibadatkhana was built by Akbar. 
12.2 Name the state where Babur defeated Ibrahim Lodi. 
12.3 Name the state where Chittor is located. 
12.4 Name the state where Bijapur is located. 
12.5 Name the state where Patna is located. 

1 x 4 =4 

 

 

 

 


